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Use the identity

Reos(A — B) = R.:ns B+ R.in B

to show that

8cosf+6sin0 (3

can be written as

o

10cos (6 - a)

where a = 0.644 to three significant figures.
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5cos® + 68n0 = [Ocos (0 -w)
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(a) Show that the equation cosec? x = 2 cosecx — 1 can be written as

* = -
(cosecx —1)2 = 0 “) cosectx = 2cotecx — |

@ Spek thae wdden twf’\d"’“‘t‘;c‘-

ek Y= cosec=<

(b) Hence, or otherwise, solve the equation

cosec?x = 2cosecx —1, —2m<x<2m 31 = 7’5 -1
L =
13 y —l.J +] =0
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(a) Show that the equation cosec? x = 2 cosecx — 1 can be written as

(cosecx — 1)* = 0

b)  Solve (wsecx-1)"=0  faom (@)

&l coseexc—-1 =0 +)
(b) Hence, or otherwise, solve the equation ) (1 wsecx = |
cosec?x = 2cosecx —1, —2m<x<2m | =1
. sinc \
. | = sinx
o ()= T
g = S (1) z
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Solve the equation ¢

State your answers as multiples of 7.
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() Write down the domain and range for the function

1(x) = arccos x

(b) Solve the equation
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() Write down the domain and range for the function

1(x) = arccos x

(b) Solve the equation

=%

Dovveine =& X &1
Range: 0sarcos X <T
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(a) Use a small angle approximation to estimate the solution to the equation

4coth—2=3
o) bk 253
[2]
. b o2 =3
(b) Solve the equation 4cotf —2=3, 0<6<% +2 tand ) +2
Give your answer to three significant figures. I 5
T tond
2 - C tond ol
X5 ko= a8
5

For smoll 6, tan@% 6 (smoll orfle approximabion)
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(a) Use a small angle approximation to estimate the solution to the equation

4coth—2=3
8 = '5&' hid b) Cmﬁr\u.iﬁ P BB = L pomm port ().
[2]
(b) Solve the equation 4cotf —2=3, 0<6< g
Give your answer to three significant figures.
[
[2]

0 =0.675 (3sf)
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(a) Sketch the graph of y = secx for —w <x <.

131
(b) (i) Add a line to your graph demonstrate how the equation
seex=k, -msxsm
where k is a constant could have no real solutions.
(if) For which values of k does this equation have no real solutions?
[2]
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(a) Sketch the graph of y = secx for —w <x <.

Qg) for secx =k B e no ol sdudion, e Une
31 J=k st nde interseck e cruve ldzse(lx.
(b) (i) Add a line to your graph demonstrate how the equation

seex=k, -—m<x<m

where k is a constant could have no real solutions.
(i) For which values of k does this equation have no real solutions?
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Solve the equation

cot? § — cos 6 cosec? § = 0, 0<6<2m
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Solve the equation secf =1 for 0° < 6 < 360°,
3l secB® = — =)

I = wsO

o= ws ') =0
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Given that

- Siakun tang.
o °) = 3
tan(4° ~ 309 = =~ b
find the values of A such that —180° < A° < 180°.
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Solve the equation
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(a) Sketch the graphs of y = arcsin.x, where x is measured in radians.
Label any points where the graphs intersect the coordinate axes.

B

(b) Find the only solution to arcsinx = §
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(a) Sketch the graphs of y = arcsin.x, where x is measured in radians.
Label any points where the graphs intersect the coordinate axes.

Bb)

(b) Find the only solution to arcsinx = §
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